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COMMERCE
Paper — 3.4 : Financial Management

Time : 3 Hours

Instruction : Answers should be written completely either in Kannada
or in English.

SECTION - A
TN - D

1. Answer any five sub-questions. Each sub-question carries two marks. (5%x2=10)

a) What is working capital ?
TR0V 20BeE D0TTEeRD ?

b) What is interim dividend ?
dadéoa’d R0 0TI ?

c) Give the meaning of finance.
BEITORD BT 1@5?535;%?3@53&

d) What is combined leverage ?
ot ﬁq QOTITEI ?

e) What is capital structure ?
2I0BRIF T3S 0T 9.

f) What is accept and reject criteria in NPV ?
NPV c&oez:fiojasgt WRBRTT 0BY ETK 00T BRTBORE 2oTesd ?

g) What is profitability index ?
RYTIODFIOD B3 20T 2

SECTON -B
QTN - W

Answer any three questions. Each question carries six marks. (3x6=18)
2. Differentiate between cash diAvidend and stock dividend.

JINTO RS WY AT TR0 f)d,@s:imfﬁg‘ 8920.

P.T.O.
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3. Mention the functions of financial man"agement.
TEIFOA QaoF BEHOD F2OPFNTRO, TROR.

RO 0

. A company has sales of X 2,00,000, variable cost X 70,000, fixed cost 1,00,000

and interest charges X 3,668.

Calculate :

a) Operating leverage

b) Financial leverage

¢) Combined leverage.

20T 0TI BRoesy T 2,00,000, 250 WRCRNTH

3 1,00,000 508 2,830, W@ X 3,668.

o .
ué o0 :

a) THODF VVFHTR B,

b) Teesors ;«)E\i

C) ol #52

o3 524 70,000, 23 323,

. The initial investment of a project is ¥ 1,00,000 and it generates net cash inflows
of T 50,000, T 40,000, T 30,000 and X 20,000 respectively for four years. 10%

rate of discount. Calculate profitability index.

Year

1

2

3

4

PVat10%

- 0.909

0.826

0.751

0.683

2,000 odrexSoP T,JoRs mRRF I 1,00,000 &0 @mT IWE SN WEROW)
baﬁéfwmﬂ SRLOM) =R T 50,000, T 40,000, T 30,000 jaéu? 20,000. 53008

30 Jese 10. 'awtﬁ RO Nfazi f\%ﬁ& cﬁé T00.

TRENSD

1

2

3

4

PV at10%

0.909

0.826

0.751

0.683

. Calculate the future value at the end of 4 years of the following, series of payment
at 9% rate of interest.

% 1,000 at the end of first year

¥ 2,000 at the end of second year

T 3,000 at the end of third year

T 4,000 at the end of fourth year.
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B3 3$NI 303 ‘-Ud\%o:bﬁa BIDRFT FRSTODNE 303w 93 WR TORSITT, 4 IRENS

FRBHOD BT z:ﬁ:’o@d *f@ ‘ﬁa BOTBIZEBO0.
X 1,000 Segeson SRS m%awm

% 2,000 20500 IRET ©og, d@

T 3,000 R0R03ch BRE3 @C@

< 4,000 YFoH RDRFT 555@,}

SECTION-C
QRN -

Answer any three questions. Each question carries fourteen marks.

(3x14=42)

7. What is financial management ? Explain the scope and importance of financial

management.

DEITOAD VDT I DOTTER ? BEITORAD Ve3F BFHBOID R ﬁ:ég ﬁo%éﬁ%ﬁd& QIO

8. What is dividend policy ? Discuss various forms of dividend.
CRYPODTI VS DOTTERD ? VT LoD TRYPOBTIFRO WSF 2.

9. What is financial planning ? Explain the factors affecting financial plan.
DETFOAT O30T 0TV ? BT 03RewIOD Woed D[P uec’om’ OBNII),

@Jﬁ@f\.

10. The cost of the project is X 50,000. The life of the project is 5 years and following

are the expected cash inflow of the project :

Years 1 2 | 3 4 5
Net cash inflow ) | 20,000 | 15,000 | 10,000 | 15,000 { 8,000
Present value factors at 10% and 15% are :

Years 1 2 3 4 9
PV at 10% 0.909 0.826 0.751 0.683 0.621
PV at 15% 0.870 0.756 0.658 0.572 0.497

Calculate :
a) NPV

b) IRR.
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11.

2070 03Rez00 #1353 X 50,000. w53 BeRERE 5 BRFAD, 03neHond Snwd wd
TOR) FYB0EOST.

TREND 1 2 3 4 5
QY SN wemoxy (X) | 20,000 | 15,000 | 10,000 | 15,000 8,000

TR IPYT TT 38w 10 0= esee 15 3950E03T.

TRENE 1 2 3 4 8
PV at 10% 0.909 0.826 0.751 0.683 0.621
PV at 15% 0.870 0.756 0.658 0.572 0.497

e3¢ B w500, (NPV) 302 50808 swood oo (IRR) & &8 w080.
= o 3 -0 ERE.

A Ltd. company has equity share capitai of I 5,00,000 divided in to shares
of ¥ 100 each. It wishes to raise further ¥ 3,00,000 for expansion plans. The
company plans the following financing schemes :

a) All common stock

b) ¥ 1,00,000 in common stock and % 2,00,000 in debt at 10% p.a.
c) All debts at 10% p.a.
)

d) X 1,00,000 in common stock and X 2,00,000 in preference capital with the
rate of dividend at 8%.

The company’s EBIT are ¥ 1,50,000. The rate of tax is 50%. Determine EPS
in each plan and suggest which plan is suitable ?

WOT AN éo@iﬁ’@oﬁo WOTP Td=030 X 5,00,000, T 1003 00s03e30d mmsj

BeTONFINTIYT. FoTIO DFTF RewsSmN F3Eoosnn X 3,00,000195,

RON&AET. BRI WoBIHY TIF03 FIF0TeST :

a) O TR BETNTY,

b)  1,00,000 RN, Betoned) [x23 T 2,00,000 3633 103 Mo TFrve),

C) 2R AOTZND, 383 103 WRTT

d) ¥ 1,00,000 m=ng, Sedoned =023 X 2,00,000 Fes@ 80 enimooda @5’{@@5
NS,

BOTVOID @@eé\é Clonleve) (EBIT) % 1,50,000. =z3003 301 ©0 3esz0 50.

B& 30T NYFOII eﬁéﬁ,mz‘%@. CIRE C3RERT AT 0T ROT RO ?

%




